FODLE

Alcohol Testing Program

IN

STRUMENT PROCESSING SHEET

Agency i Y\-('\f ‘L\’\ f,OL)/\ lrwi

sIN 3O —COe [ (9

Date In 6/1 /17

DateOut fg‘ ’;jl )tlsmp Qp/u OH/D Qcmi QEE

-~ 1A Case

Visual Inspection:

Cj‘if Handle

ey
Intake Performed By X}L Quality Checks  Performed By ?5 Flow Calibration Performed Byi?’f')
O Registration W LabTempoc_H[.0 Flow Calibration N/A
<82 Annual B Breath Tube Screen a Flow Calibration Complete@@‘

O Return from CMI ¢ Replace External O-Rings Flow Column # ﬂ !QI! ) C‘ij/
O Return from Enforcement % Instrument Set Up Verified g 5L/min—17mm 7 @o

Electronics R-value _{ D | 15L/min - 53mm v O
Q Other Flow Verification (L/s) 30L/min -1 y b/

i Flow Column #_A L P10Z ok I?S/alue %"?‘ 0(4\ w

32mm - |28 (139 -.169) §I’

Post Calibration Verlflcatron ( éj
3emm _« (.156 - .190) ﬁrﬂ

Flow Column #

_Ol Dry Gas Holder [/ Feet 7
Ol Keyboard/Plug oL Back/Plugs 53mm _; A5 (228-.278) 32mm _t [ ¢S (.139-.169) [
Ol Screwstight <~ Breath Hose 103mm (.447 - .547) 36mm | 1| (.156-.190)
? Barometric Presgurg Check 53mm _. 23 (.228 - .278)
Other Equipment: ~ GaugelD # ' 103mm 140(.447 - .547)
Q Power cord Stability Checks Maintenance Performed By
Q Printer Cable Simulator | Serial # Lot #/Exp O Battery Replacement
O Other 0.05 ; 31 | O  Dry Gas Regulator Replacement
SO3702. %}O)S[;O_C }% O Breath Tube Replacement
0.08 2 i O Other
Notes: 610.2.‘(’?(0‘1 5 9: %3%-1—1? Quality Checks Cont. Performed By St
0.20 . / yy¢], | Simulator Temperatures °C
Sng 33 ﬁ’é;&ffgc External Digital Therm. ID#: 500505
0.08DGS | N/A Bllo Aoy @ 34°C+2 serial #: SDAT42)
q-n—|% § 34°C +-.2 Serial #: ﬁ)‘ifﬂ,uf
= ‘ 34°C +-.2 Serial #: SD3933
Calibration Adjustment Performed By S5~ Department Inspection Performed By
O calibration Adjustment N/A Barometric Pressure 100H Gauge
ﬁ Calibration Adjustment Complete D A5 L L6005 Instrument
Barometric Pressure Gauge [0S ID# 225 H [
Simulator Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # 2016 —A
0.000 SDIo0 |9 N/A N/A Acetone Stock Solution Lot # 2011-A
0000  |5pjoi§ |IuBRo [10-R(-I3]||Simulator &
0.100 ISDIOLA (7060 |R-14-19 ﬁ';s:]rferent G %j‘f
0200 15Dii) 172090 [2-3%-19 | [o0s 539G
0.300 DRIZNS |[leHlO |ia-19-18||[o0s <SP L
0.080DGS | N/A i5wi5050aR 7-5-17 || [0:20 SLIA3Z3
Post Calibration Adjustment Stability Checks
'Simulator Serial Number | Lot Number | Expiration Attachments
0.05 SD39eQ | 2010680 | 3518 ® Form 41 ML Ccalibration Adjustment
0.08 SOXNed | 2010 L(R [ II-i15-1§ B pre-stability Tests 8 Post-Stability Tests
0.20 SD3A33 |201L04C | 4-5-18 /EL Flow Calibration O Other
0.08DGS | N/A Ao Alleod] 9-22-18 J

Quality ContrFT eview

Notes/Suggested Service: ?:' Instrument Complies with Chapter 11D-8, FAC
PERFORMED CAL ADWUSTNENT TO BRING|| O  instrument Does Not Comply with Chapter 11D-8, FAC
VALUES CLOSER T NoWlinNAL P (X Return to/Place into Evidentiary Use
O Remain Out of Evidentiary Use
@q\‘ﬂ Qe %— " : | F Conduct an Agency Inspection Before Evidentiary Use
g, (ofle]] 7 i
| Date

Revised May 2017
DI-1PS2017R1
FOLE/ATP -048



MARTIN COUNTY SO
Intoxi lyzer - Rlconol Analyzer

Model 8000 SN 80-006169
06/05/2017
Software: 8100,27

Test g/2liL Tine
Rir Blank 0.000 09:38
Control Test 0.051 09:38
Rir Blank 0.000 09:33
Contral Test 0.050 09:40
Air Blank 0.000 09:40
Control Test 0.050 09:41
Rir Blank 0.000 09:42
Control Test Stats

Auerage 0.0503

Std Deu 0.0006

Rel Std Deu(x) 1.1471

Operator’s Signature

HARTIN COUNTY SO -
toxilyzer - Rlcorol Analyzer
g SN BO-0061€9

Model 8000
06/05/2017
Software: 8100.27
Test gr210L Tine
é;;-élank 0,200 09:34
Control Test 0.078 09:34
Rir Blark 0.000 19:35
Control Test 0.078 09:35 -
Bir Blank 0.900 ﬂ9:§§
Control Test 0.078 09:36
Rir Blank 0.000 09:37
Control Test Stats =) g

Ruerage 0.0

Stg Dev 0.000) De"

Rel Std Deul%) 0.0000

Operator’s Signature

MRRTIN COUNTY SO
Intoxilyzer - Alcohol Analyzer

Mode! 8000 SN 80006163
0670572017

Softuare: 810,27

Test g/2liL Time

Rir Blank 0.000 09:43 |
Control Test 0.082 09:44 ’
Rir Blank 0.000 09:44 /
Control Test 0.081 0%:45 |
Rir Blank 0.000 09: 46
Control Test 0.08] [9:45
Rir Blank 0.000 08:47
Control Test Stats

Ruerage 0.0813

Std Dey 0.0008

Rel Std Deutt) 0, 7059

MARTIN COUNTY SO

Intoxilyzer - Rlcohal Analyzer

ffodel 8000
0670572017
Software: 8100.27

Flow Rate Calibrationssssrce EE%:i

MARTIN COUNTY S0
Intoxilyzer - Blcoho) Analyzer

fode] 8000 SN 80-006169

0670572017

Softuare: 810,27

Test g/2lL Tine

Air Blank 0.000 09:28

Control Test 0.201 09:29

Rir Blank 0.000 09:30

Control Test 0.200 09:30

Rir Blank 0.000 09:31

Control Test 0.200 09:32

Rir Blank 0.000 09:32

Control Test Stats

Auerage 0.2003

Std Deu 0.0006

Rel Std Deuz) 10,2882
"""" Operator’s Signatire ™

!
MARTIN
; COUNTY SO
T Ll
SN 80-006159 5 TP(B ! Tl{
CHECKS %
FLo w
CALIR RANO

1; Rate [Liters/min) = 5
SORTIDIff) 1= 6,324

2: Rate [Liters/nin) = |5
SORTCDIfF) ) = 11.398

3: Rate (Liters/min) = 30
SIRTIDIfFf) ) = 21.2%¢

Cependent Data Scale Factor = 100000 L/nin

Independent Data Scale Factor = 256

Rounded Slope = 547

Rounded Intercept = 483897

Correlation = 0,99773

s
W
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